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1. Aufgabe
(a) ϕA = 20 V

(b) ϕC = 15 V
ϕD = 5 V

(c) UAB = 9 V
I1 = 5 mA

(d) Pges = 160 mW

(e) Uq2 = 13,33 V

2. Aufgabe
(a) Zeichnung

UAB0 = 7 V

(b) RiE = 100 Ω
IKE = 70 mA
UAB = 4 V
IAB = 30 mA

(c) RNL = 133,3 Ω
rNL = 200 Ω
PNL1 = 75 mW

(d) Pq1 = 1,89 W→ Erzeuger
Pq2 = −0,7 W→ Verbraucher

(e) UAB1 = 3 V
IAB1 = 40 mA
PNL1 = 56,25 mW

3. Aufgabe
(a) d ≥ 250µm

Aeff = 2,82 · 10−2 m2

(b) Wel,max = 31,25 mJ
D = 885 µC

m2

(c) n ≥ 13 Metallplatten und 12 Keramikschichten
(d) I = 2,82 nA

4. Aufgabe
(a) U2∞ = 4,8 V

(b) Q1∞ = −240µC
Q3∞ = −240µC

(c) ∆Q1 = −1,44 mC→ abgeflossen

5. Aufgabe
(a) ESB
(b) N ≥ 775

(c) µr1 = 2984
µr2 = 8952
Rm,Fe1 = 2,13 · 105 H−1

Rm,Fe2 = 1,78 · 104 H−1

Rm,L = 1,99 · 105 H−1

(d) Skizze


